JbE ki3 AVALANCHE 2012/12/7
Pos B5 K% S PN BHEF
1 TE 1 SH K& | 2 =EFRF
2| CB 4 Bk £ 3 FMEKXE
3| OLB/R/K 6 Rl 22 | 1 MEXE FAE28R)
4 @B 7 BEA B | 4 | LBEXEERERY BEE
5] QB/P 8 £ E 4 BhBIT R MVP(2&R)
6] OLB 9 BAR 5 4 BFKE
7l WR 11 #HE ¥F | 3 =2FREF
8 FS 12 T8 SF | 1 MEXE
9] WR/R 16 IR FEX | 2 BhRIT K
10| QB 19 KE TE | 3 BFKE
11 FB 18 EE & 5 | kB XRFEEFE
12 TB 20 AKEAH £ | 4 BhET RS =EHRBQE)
13| ©B 21 IO 3EEE | 1 BEFKXE HAE
14  TB 23 T X5 | 4 BFKE RB
15| TB 25 PR £ 4 | B XRFEEZE SF
16 SS 27 ERK FiE| 4 MEXE
17 FB 27 mE Sk | 3 BhRIT K
18] oOLB 30 =H f#3 | 3 | LBRFEEFE
19 1LB/K 32 I0 & | 4 BhBIT R BRI E (280)
20/ CB 33 XA BFN | 2 BFKE
21 LB 42 Hth S [ 3 MEXE
22| 1B 50 AR —4% | 4 BFKE
23] OLB 51 R EFXE
24 LT 52 B i | 1 MEXZE
25|  RG 54 EE ®KE | 1 EFXE
26 C 55 KiE N | 4 EFXE c
27 OLB 56 EiIg FIE | 3 NN
28 RT 57 ERR =E| 2 MHEXZE
29] NG 60 8 B&F | 1 MEXZE
30 RG 63 W HE | 2 NN
31 NG 64 WwH #E | 1 NN
32 DT 65 A&t f£— | 3 NN =EFHDLER)
33 DE 66 = =] 3 EFKEF
34 RT 70 KH K | 2 NN
35 LG 72 AH #HN | 4 EFKEF BEE
36 C 71 Tk FHA | 3 NN
37 DE 74 FIE 17 | 3 | FEXRFEREZE
38 LT 76 Wi &F | 5 | LB KFEEZE
39 LG 77 B/R BE | 4 MHEXE REFHOLQER)
40|  DE 78 | FH BEARER] 3 | B KRFEREZER
41 DT 80 T BE | 4 | B XKFEREZE
42 FS 81 MR BR[| ShRII K
43 WR 82 Em ER | 4 NN =1EFDB2ER)
44 TE 83 K é@ﬁ 5 itikiﬁ){tl’%%ﬁﬁﬁ DL
45 SS 84 = B 3 = g
46]  WR 89 Eadk = 4 EFKE
47  DE 91 = KRB | 4 BhRII K




